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HEDNS: R DS s
P HSAE E
LT

eSS v

= - — SHE]|
SN HE B (BH) - MR - BES e bl D=2t
301 gt L= 2,000 2,000 0
09 HALAHIEA S 2,000 2,000 0
O d2 A s F4AX AU E4
50,000& = 409H 2,000
AME 23 HE A 324,700 0 324,700
401 AIEHIZ 28I 324,700 0 324,700
01 A& Hl 322,180 0 322,180
O MAIZZFHAIE OLAHOIE AXIAE (6X)
150,000,000 * 99.28/100 148,920
O &s, JYAIE OHACE ELAMY
80,000,000 =* 99.10/100 79,280
O MEANT SHUS L A22 XD
80,000,000 = 99.10/100 79,280
O SeAE A2 22E3H
14,700,000& * 14 14,700
03 Al 2 THHI 2,520 0 2,520
O MAIZZFHAIE OLAHOIE AXIAE (6X)
150,000,000 = 0.72/100 1,080
O &s, AYAIE OHACE EZAMY
80,000,000& * 0.90/100 720
O HASAE 24 P AB2 X SAM
80,000,000& * 0.90/100 720
WSAE OHAHOIE XA ,000,000 0 1,000,000
Xl 600,000
Al 400,000
401 AIEHI L 2 CHYI ,000,000 0 1,000,000
X 600,000
Al 400,000
01 A& HI 993,700 0 993,700
O WSAZE OtHOIES &XIAS (51H)
1,000,000,000& * 99.37/100 993,700
Xl 600,000
Al 393,700
03 Al 20 HI 6,300 0 6,300
O WSAZE OtHOIES &XIAS (5XH)
1,000,000,000& = 0.63/100 6,300
MNAIE =5 dHe)] nx 300,000 0 300,000
Xl 180,000
Al 120,000
401 AIEBIZ 28I 300,000 0 300,000
Xl 180,000
Al 120,000
01 A& tl 297,840 0 297,840
O (FIMAME =F HH2)] WA
00,000,000 = 99.28/100 297,840
Xl 180,000
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PRS- DS

M MEAZ SHG (ALY - EA)Y/MAXE - DEF)
Sol: DUAS HSAE S4 CERED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
Al 117,840
03 AlE 201 | 2,160 0 2,160
O (F)HAIE =5 HUE )| DAY
300,000,000& * 0.72/100 2,160
HESHAY|(XIGSAMY)(IIEH/DIE) 118,621 107,112 11,509
oA 2HH| 17,694 12,058 5,636
oled A Y| 17,694 12,058 5,636
101 e1214| 17,694 12,058 5,636
02 JIEtE 2 2= 3,093 0 3,093
O HHPE NAATR2Y 2=
8,591& * 1H = 30AI2t = 128 3,093
03 RIAHEZZXHE = 14,601 12,058 2,543
O §s¢22244 7,632
o AN&EZL2A 146,760 * 198 = 52 7,632
O A2HAd224+ 6,669
o IR (ZEAQRIA)
9,170 1% * 12A12F » 128 * 150% 1,981
o OPAZ(MEBAHY)
9,470 * 19 * 12A12F » 128 * 150% 2,046
o <[H>AZ(AlZ22H)
12,2302 » 1€ x 12A12F = 12&€ * 150% 2,642
O A2’ &2g= 150,000 * 1 « 23| 300
Jle&ddl 100,927 95,054 5,873
Jl2 &34l 100,927 95,054 5,873
201 LBt ]| 83,857 76,514 7,343
01 AP 22| d| 83,857 76,514 7,343
O LBtxx=SHl SHA A 15,000,000 = 14! 15,000
O SH ZHH A 20,657,000 = 14! 20,657
O 2g9axg WY & 48,200,000 = 14l 48,200
202 044l 9,570 7,979 1,591
01 2L Y| 9,570 7,979 1,591
O RASE SHHA 9,570,000 = 14 9,570
203 SR F&d| 7,500 10,561 N 3,061
01 JI22HE Y FFEAH| 3,300 2,841 459
O AHoHL=at=E 3,300,000& = 1Al 3,300
04 EASHEHIRFAH| 4,200 4,200 0
O XNYFHU(HEKA 189H) 350,000& ~ 12& 4,200




